EARAZROREIERT — 2 N— XBISY —F 2020558300 () 2EEZEI1H

Il &S ZfeE 4kt KBEF (GRS 82 (xwlw | lmEmml - (w5 oo 8
[A&4)] 1 7% :7,900,000 @ 23 :3,200,000 3 3 :2,000,000 @ 43 :1,200,000 @ 5 j& :790,000 M
BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N =\ —p [iEEes 21, —6-6- . — ABER— (ER)
<I935 TY o4 S 3(2_1)7 6-6-6-5 | 13.4 2 (5_142) e
LAY —h77Ia> BRI/ G4 0T ZRBT 7 —L
= PzEE :22. -3-3- . = bl ()
®I3I—U+ H o6 e 3(272)9 3-3-3-2 | 13.5 4 ig? e
L:T7RI(YL—> B:TS5ML4T21—2 BEX#ERS
> 5 i o8 | AU 3:24.2 1-1-1-1 | 13.6| — 1 504 | EFME— (EH)
A= 60.0 ® 42 | B #5TLy K57 5707
RN—ErTr— Bitex LA IG 14577 — 1
—: ¢ 4 4 | REREX 3:24.5 7-7-7-7 | 13.6| — 7 504 | HERE (ER)
71— K [B] 59.0 (1 3/4) (+6) HAIEE
R:T77—Hv>r B:IL2X EZHTT—L
P, N > 4 | EABREE 3:24.7 2-2-2-2 | 13.6| — 5 474 | RERT (EH)
50111 A4 70—/N— - 59.0 (1 1/4) (-2) ANARETT
L:xoov¥d /€% BevrFqa—N HIAREy K
SV ST 2 # o7 | EHED 3:24.9 4434 |13.7| — | 3 | 528 |EAERE (EH)
67|12| ¥ TV EA 60.0 Y Pl
L:TYHA XTI K B:FFa70LX3 BE RS
N . ferk . A — KILEE (E#)
; MRS w7 fE 3.(225>.2 4-4-5-6 | 13.7 8 (42:)) ramd
XD ThANAN BNy arelL T "HET7—L
N 4 8 | LA 3:27.3 8-8-8-8 |13.8| — 6 504 | #BAE— ()
81814 TINA T — (B] 60.0 (21 4) (+14) 9*;1%—35
L:d—=WR7Ya2—l B:NY2T7y MJZXY HET7—L
5 j H o4 | RBHEM 3:27.4 10-10-9-9 | 13.8| — 13 | 488 | KMEE— (i)
9 9| ®YIRINIAT 59.0 (7€) ) | W HITLYEITT - 5T47
A:Into Mischief #£:Spring Robert B. Trussel
I > 5 | NEHFHK 3:29.9 10-10-10-10| 14.0 | — 11| 486 | BAEX (EiH)
100 11| @ L~ =~V b LT 77 w00 (514) o | B ESH-TU-s-x a2z
LT RIA Y L—> B:RUs—RINT [ e
S, . it 4 | BAEX 3:30.4 12-12-13-13| 14.0 | — 14 | 468 |1RMEE (Ei#)
118[13) ¥F~3% > 57.0 @ g | HEE
RiRYUSTyR BivAREvAU-> EvILy KI7—4
33 < o6 | NIRE 3:31.0 9-9-11-11 | 14.1| — 12 | 446 |HAIEE (i)
Eﬂ 6 A1) =3 RJVN 58.0 (31/2) -2) AHEE (¥
:Nd B XRZXHI RN [Hikse]
5 = 2 5 | EHAE 3:31.3 13-13-12-11{ 14.1 | — 9 480 | FEREX (EH)
13|57 F—T7—=F14 b - 60.0 (1 3/4) 0 (E)Eﬁ"/?—lx—:/‘/’j
LNZ—ka2—X B:F—-Tr-—T 8- RIS
o SO FEIE :37. -14-14- . — HEERM (KR
1lslg| ¥ EFILY [B] H 6 2 (:;3{7% 14-14-14-14| 14.5 10 (5_2;) el
LNNVTSY BFLTIXTY— FEHS
@ 21 L
£y 50.4-37.5
ngraAq L
® I—F—&EBIERL
| S=7r= 4-1,3-(2,12)10,5-14,6(11,9)-13=7=8
20—7— 4,1,3(2,12)10,5,14-6-(11,9)-13-7=8
g =5r= 4,1(12,3)-2-10,5-14=9,11-6-7=13=8
Mal=5r= 4(1,3)12-10-2-5-14-9=11=(6,7)=13=8
[ N
B 10 500 794K 3-10 670M & 3-6 400/ &R 3-4-10 1,160
# B 10 150 4-10 220 B E 3-10 2,320M EE 10-3-4 10,660
3 170 3-4 300M B H 10-3 4,230M
4 110

ABRICOVTHRTEEERROODE, THEB LS,



